WFLEMING MACHINERY FOR AGRICULTURE
i AND COUNTRYSIDE CARE




STANDARD YARDSCRAPER FRONT VIEW

SEE TABLE NO: 001




TABLE NO: 001 STANDARD YARDSCRAPER FRONT VIEW

AYS/AYSGALV
ITEM NO DESCRIPTION CODE QTY

1 [ AYS HEADSTOCK PAINTED P001.177 1
1 [ AYSG HEADSTOCK GALVANISED P001.178 1
2 | AYS CHANNEL PAINTED P001.179 2
2 | AYSG CHANNEL GALVANISED P001.180 2
3 | RUBBER BLADE ZGPP36 1
4 | LARGE WASHER P001.174 9
5 | M10x70 SETSCREW ZFAS02 9
6 | M10 PLAIN NUT ZP ZFASO5 9
7 | CAT1 LIFT ARM PIN ZGPP70 2
8 | M10x40 LINCH PIN ZFAS31 2
9 | HINGE PIN ZMAC38 2
10 | M6x40 ROLL PIN ZFAS30 2
CHANNEL (NO BRACKETS) P001.175 1




STANDARD YARDSCRAPER TRIP MECHANISM

w =£&E

SEE TABLE NO: 002




TABLE NO: 002 STANDARD YARDSCRAPER TRIP MECHANISM

AYS/AYSGALV
ITEM NO DESCRIPTION CODE QrTyY
AYS TRIP MECHANISM COMPLETE P001.181 1
SPRING ZSPRO1 1
STICKER KIT P001.524 1




